I % W N B B
IE A MEZr E e
AT AN (2024) 23 B

RN BAT. BFE. BER. BEH ()

WL ARBAFT 2018458 F 1S HAEH T #i £ 5(330381) A
(20181 -0005 & (AT T HZEXAHFHRELEY, k(P EEE
J O+ B 2 B K.

R (F) KRBT AME LB, A% T 2024 £ 5
ALBEEE (F) RKT (EHAMELBREF EEmB),
(P ) REEEAZHR AR LR S #EN, WK E KT RA
AR AR, AR AR AR A PR A BE AME O R b 4 E AR
. ARE (PEAREME LG B :LHELAH) =1 —
o G E L ME LG S+ HL, FREMIMEZELE
W

— HMEREAR

it fr BT AAAR AKX (B8, /M, KA K1 iE x4
ANZEBHRMEL. REFAF. FERE. £REFF. 7&K
LEEBRAMA. R (FP) FRELETH IS T 2478 A%
N BREMNBINAEFTEMRAELERE, FESE
C-254-2, WHEEAETHIEmEH L EHERLH, BFBRFK
T T W ER L () F5% 00252528 5, BRELZH: #e,



E¥: 3B, Bk 1-3, ¥ 1HE, H#ER: fiK LA
o EE A, EHAER LM, BHAKESLSHER 32.33 ',
WA (g b 248 R LA P A TR AR E AT A L3P R
BERAMEFEY MW “MEHEEAR —HARN, TEEAW
MEEARESHER 15 IHE;, FR—BARMEAEmEEITA
MARECAEMPTEAT WA LM EBE, 1% — 8 AR AFE T
€. YEME R —HRE FEEEREENEGEEAKRE S HH
SR FHRET IS wHNES) CEEATMN 175007, BFERA
AR ZBEEAERA 175 00,

Pk () fEEtn TAME R B

(—) ZEAMZT X
= AR
(=) AMEF T HEEFET 70 E

| iEHEREBERFN. ERAEGERHEMAZNE. Hit
#Mz 52 79207 JT.

2. Y iE B AT M B A E A (BOAE ) BAEAR 15 6/
S RMAREITE. AEE RS ESR (SOAE ) EAEAMN 98.91
P07 K x 15 g6/ F 4 K=1484 L,

3. [ B AT M B B AR AR (BOAE) EHER 15 6/
7RI, AR E R A EA (SO E) A EAR 98. 91
77 K x 15 Ju/F 7 K=1484 TG,

LG EE R NI ARTEEZERRARBHAMN,



WHEA U T/ FHRFENE, SAENZEE45 4 9891
TR x1T o/ T K=1681 5. it 36 N AT URZEW, A
W 2 A RERFATEN TS A E %,

(Z) ZEHNE., WEKXRLER % X

1. 2EFRANGRIG EREH

*OFP) BAEME B ELCBEHTMRA 115 TH K, RERELA
AMRNEE KRBT, RHABUR, o XkEUE, LEF. L%
BUAFATENGEELREEAE, T HEARKALE
AW, ZEFEABME, RER (F) H—BFRY 15 THk
5—FZHRN IS FTHANERELEZERELE,

ZEFEMEZFITE T 170 m* x 5000 55/m’=850000 77, E
WUMR (F) REBMNLE 5 ERR BG40 502 A ETH
TUSH, BREZETRENNEN A 11500 5T/F 7 k.

PRz BEFAEREMH=5 0 x 6500 75/m x 1. 04=33800 ¢,
FrzBERAORE MR EEL A ESEE.

2. T B I 3 A

e EAMER (BT HR. BT 8. GHEEEIN) If
FLEEAEAREMRAEELAE MBS, & W55t
CEEEREMETE, BNEERLT M £5:, $=HY
L EE IRTEWE, QN 5EEZ LT 0% 25 (5 4HE
BRTRTE), RABLEE L TR(To 42 (kR 2t 1

R R0 BN )



= R (P HERLHARBATREESEE LML HEIR
ERREARBE A EMEBEHRABR L/ BE . 10izH]
Bz, HEMET LEHEAELARBIRER, ARAEER 20
THRELBEEMLH, BEAE (P BRURBIRERHITEER
EFE,

= R (A WARRARE, FAABWEIARE S Z BN
+ HAREERITRENSE N ARKERARARERTE
37N

1. R (F) X ERRATREITERE NS TEIRLR, £
FHAMERBEREMENIIRAN T EITEZ I FH, AL
X MCGERIE A RERGRHIIT.




